GS/1G/100

Part A
History and Culture
During the Indus Valley Civilization, the
beads manufacturing industry was located at
Chanhudaro

Select the correct statements about religious
beliefs of the Rig Vedic Period :

I. Dyus was a celestial God of the Rig
Vedic Aryans similar to Jupiter of the

Greeks.

II. Prithvi was considered as the mother of
all Gods.

III. Agni was  worshipped as the

intermediary of taking the offerings to
the deities.

IV. Cow sacrifice was also the part of

worship.

I, IIT and IV only

Match the following schools of philosophies
with their theories :

a. Sankhya I. Predetermined fate
theory

World was formed by the
blending of nature
Considered Atom as
basis of the world
Advocated materialistic
ideology

b. Vaisheshika II.
c. Lokayata  IIL

d. Ajivika Iv.

Choose the correct answer using the codes

given below :
a b c d
II 1III v
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Hathigumpha inscription of Kharavela gave
the details of irrigation facilities provided in

the Kalinga Region by

Mahapadmananda

Select the correct statements regarding the
inscriptions of Ashoka :
I. They are in Brahmi, Kharosthi, Greek
and Aramaic scripts.
II. The Monarch’s name was mentioned as
Ashoka only in Maski and Gurjara
inscriptions.

III. The XIII Rock
names of the five Greek Rulers as his

edict mentioned the

contemporaries.

IV. The IV and V edicts mentioned the war
of succession with his brothers.

I, II and III only

Match the following books with their authors :

a. Prajnaparamita I. Acharya Kundakunda

b. Samayasara II. Sarvavarma

c. Lilavati III.Acharya Nagarjuna
Parinayam

d. Katantra IV.Kuthuhala
Vyakaranam

Choose the correct answer using the codes
given below :

a b c d
IIT I v II

(2)
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10.

Which of the following was not the feature of
the Guilds during the Gupta Period ?

Non-Autonomous Bodies

The account of Greek (Yavana) invasion
during the reign of Pushyamitra Sunga is
available in :

I. Gargi — Samhita

II. Patanjali — Mahabhashya

ITI. Kalidasa — Malavikagnimitra
IV. Visakhadatta — Mudrarakshasa

Choose the correct answer using the codes

given below :

I, IT and III
Choose the correct statement regarding
Nalanda University at the time of
Harshavardana :
Silabhadra was the Chancellor of the
university.
Match the following taxes :
Name Tax
a. Navidadere I. Tax on Marriage
b. Melivamsam II. Tax on Barbers
c¢. Manevana III. Tax on Ploughs
d. Tudimeya IV. Tax on Houses

Choose the correct answer using the codes
given below :

a b c d
II III v

(3)
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11. Arrange the following temples of Ellora in

chronological order according to their time of
construction :

I. Ravan ki Khai
II. Kailasanatha
III. Dashavatara
IV. Dumar Lena

Choose the correct answer using the codes

given below :

II1, 1, IV, 11

12. Match the with their

meaning related to village administration of
the Cholas :

a. Variyam

b. Kudumba

following terms

L
IT.
III.

Ward
Lottery system

c¢. Kudavolai Member of the village

assembly

d. Perumakkal IV. Committee system

Choose the correct answer using the codes

given below :
a b
VI

d
11

C

II

13.  Which
during the rule of Kakatiyas ?

L

of the following highways existed

Orugallu — Tripuranthakam — Nellore
II. Dwarasamudra — Ballari — Orugallu
III. Motupalli — Tripuranthakam — Ballari

IV. Palnadu — Nalgonda — Nekarikallu —
Orugallu

Choose the correct answer using the codes

given below :

IIT and IV only
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14. Which of the principles are common for Bhakti

and Sufi movement ?
I. Monotheism
II. Asceticism
ITI. Religious tolerance
IV. Accepted the idol worship to some extent

Choose the correct answer using the codes
given below :

I, IT and IIT only

15. Choose the

foreign chronicles of the Vijayanagara Period :

Nikitin -

incorrect pair regarding the

Visited during the
reign of Achyuta

Devaraya

16. The Vijayanagra ruler who permitted Jesuits
to build churches at Nellore and Chandragiri

was

Venkatapati Raya II

(5)
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17. Which of the following incidents took place
during the reign of Jahangir ?
I. The fifth Sikh Guru, Arjan Dev was
sentenced to death

II. Victroy over Rajputs of Mewar
III. Annexation of Kabul and Kandahar

IV. Arrival of English East India Company
to India

Choose the correct answer using the codes

given below :

I, IT and IV only

18. Match the following revenue officials during
the reign of Akbar with their duties :

Kept records of the
revenue payable by the
villages

Revenue Collector
in-charge of a District
¢. Qanungo III. Accountant

d. Bitikchi Iv.

a. Amalguzar L

b. Karkuns II.

Prepared the seasonal
crop statistics

Choose the correct answer using the codes
given below :

a b c d
II 1IvV I II1

19. The longest Trunk Road constructed by
Shershah which still exists is

Indus to Sonargaon

(6)
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20. Match the following books with their
authors :
a. India at the Death 1. Irfan Habib
of Akbar
b. The Agrarian II. Frangois Bernier
System of Mughal

21.

22.

India, 1556 — 1707
c. Travels in the
Mogul Empire :
AD 1656 — 1668
d. Early Travels in
India, 1583 — 1619

ITI. William Foster

IV. Moreland

Choose the correct answer using the codes
given below :

a b c d
IV1I II 111

The that

Taj Mahal is a combination of European and

following historian contended

Asiatic genius :

V.A. Smith

Match the following with the year they

were formulated :

a. Famine Code I 1881

b. Vernacular Press Act II. 1878

c. Charles Wood’s Despatch on III. 1883
Education

d. 18t Factory Act IV. 1854

Choose the correct answer using the codes

given below :
a b c d
IIT 11 v I

(7)
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23.

24.

Arrange the following incidents of Rebellion
against East India Company in the State of
Hyderabad in chronological order :
I. Attack of Turrebaz Khan on British
Residence in Hyderabad

II. Imprisonment of Mubariz-ud-Daula in
Golkonda Fort

III. In Aurangabad, Ist Contingent Cavalry

was suspected, disarmed and arrested

The
Nayaka of Shorapur

IV. rebellion of Raja Venkatappa

Choose the correct answer using the codes

given below :

IT, 111, I, IV

Match the following Presidents of Indian
National Congress with their meetings :
a. Dadabhai Naoroji I. Madras— 1887

b. Badruddin Tyabji II. Bombay — 1889

c. George Yule III. Allahabad — 1888

d. William Wedderburn IV. Calcutta — 1886

Choose the correct answer using the codes

given below :
a b c d
VI III II

(8)
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25.

26.

217.

The following book was translated by Gandhiji
with the title Sarvodaya :

John Ruskin —
Last

Unto This

Match the following newspapers with the
persons associated with them :

Virendra
Chattopadhyay

Shyamji Krishna
Varma

a. Indian Sociologist 1.

b. Islamic Fraternity II.

c. The Talwar III. Muhammad

Barkatullah

d. Swadesh Sevak IV. G.D. Kumar

Choose the correct answer using the codes
given below :
a b d d
II III I v

The idea of Indian Constituent Assembly was

put forward for the first time by
M.N. Roy

(9)
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. &
28. Match the following authors with their 28. fob (ogrod &¢ SSowsos ad
) DB :
works :
9,
a. Al-Biruni I. Tarigh-i-Firoz Shahi a. ©S-BH I =0p-2-98%
S,
b. Minhaj-us-Siraj II. Tahqiq-i-Hind aTor
= (V4 9,
c. Ziauddin Barani III. The Rihla b. DFe-sef -0 1L $r88-5-2r08
d. Ibn Battuta IV. Tabagat-i-Nasiri c. RBATEOS 2T IL & Bsrer
Choose the correct answer using the codes d. RS DEVL IV. $erid-3-
S
given below : AIN(e
a b c d A BR LIRS TR GHTrAOD)
a b c d
I 1v I 11T
29. Which of the following institutions were not 29.  QM°AH QO‘°§C§€§5CS?§;§J DS5HAO’ Bo&
established during the Non-Cooperation 0P A Fr10LDLB
Movement ? L D06 BTBrFVES 58,
I. Besant Theosophical College, XAIHE)
Madanapalle
o . . I 23 QAS OO QAT &
II. Jamia Millia Islamia, Delhi 5
&
T1I. Kashi Vidyapith, Benaras I 53 Dors OB, BT
IV. Aligarh Muslim University, Aligarh V. edd NWHATe oﬁw&)b@géﬁ,
Choose the correct answer using the codes @3@8&)5
given below A BN LIRS FEDOX GHTTAOD
I and IV only DB DTG, DOTHTOER :
I SDBA TV S5 ehadd
30. The Indian Independence Bill was introduced |80. 2373¢d Jr550(hs DD DS HF &963

in the House of Commons by the British Prime
Minister Attlee on

4th July, 1947

T @d THSS & god 8BS
SIS
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Part B

Constitution, Polity, Social Justice and
International Relations

31. Which of the following statements is correct

with  respect to the State Finance
Commission ?
I. It is required to appoint a State Finance
Commission once in five years.

II. It recommends the determination of
taxes, duties, tolls and fees assigned to

the Panchayats and Municipalities.

ITI. Article 243 deals with constitution of
finance commission to review financial
position of Panchayats.

Choose the correct answer using the codes

given below :

ITand II

Which of the
provide(s) for
admissions ?

32. following Amendment(s)

reservation in jobs and

QUESTION DELETED

33. Consider the following Assertion (A) and

Reason (R) and choose the correct code :
Assertion (A) :

The President is the executive power of the

Union.
Reason (R) :

The executive power of the Union shall be
vested in the President and shall be
exercised by him either directly or

through officers subordinate to him in

accordance with the Constitution.

(11)
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Code : g&ex :

Both (A) and (R) are true and (R) is the (A), (R) BO® Q230 (R) @938 (AL
correct explanation of (A). p Yo INTANYelS
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34. Which of the following statements related to|34. OIS @9&@&)[?}?@35 1322059550
the Central Administrative Tribunal are 50200800 8§08 e3¢5 HBIR D ?
2 v -
correct : L 2O SYDAS HO.
I. Itis a statutory body. 3y y .
I A DEEOR DOIOT JIPS0
II. Its members are drawn from =, @v
administrative background only. Sslele) ‘;ﬁijé 0TS,
III. It is not bound by the procedure N, 28 JBJS ([ F&ES S0
prescribed in the Code of Civil N8 P &Ocs.
Procedure.
V. Tt curisdict 0 bers o V. &Y O3 DB @De> 2rse
. Its jurisdiction covers the members o = =
All-India services as well as Central RIS @"&33 goLCﬁ DIV, _SSOLCS
4 V.
services and Central Government posts. L@aﬁ)és TP O 856
; BROA
V. It was set up in 1985. - :
Choose the correct answer using the codes V. 28 19855° QO"’Q&\) BONVDR0E.

given below :

I III, IV and V

35. Which of the following statements is not one of
the powers of the Speaker of the Legislative

Assembly ?
He has no veto except in case of a tie
&

The Speaker will preside when a resolution
for his removal from office is under
consideration of the Assembly.

AMS ARLAAS FEOD &HTIAOD
DB ST, DOTNEOR :
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36. The powers of the Election Commission

include which of the following ?
I. The takes
decisions on every aspect of conduct and
of the

announcement the

Election Commission

from
to

elections
of
declaration of results.

control

elections

II. During the election period, the Election
Commission can order the Government

to dismiss some government officials.

III. When on election duty, Government
officers work under the control of the

Election Commission.

Choose the correct answer using the codes

given below :

I and III only

37. What is/are the provision(s) to safeguard the

autonomy of the Supreme Court of India ?

I. While appointing the Supreme Court
Judges, the President of India has to
consult the Chief Justice of India.

The Supreme Court Judges can be
removed by the Chief Justice of India
only.

IT.

III. The salaries of the Judges are charged
on the Consolidated Fund of India on
which the legislature does not have to

vote.

Which of the statements given above is/are
correct ?

I and III only

(14)
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38.  Which of the following are not included in the|38. 808 ¢35 & MDOFY eden O
original jurisdiction of the Supreme Court ? JOES BB Y22 ?
I. A dispute between two or more States. I Bod O 906550 <>3§)2;<;5
II. A dispute regarding elections to either UOLOA&P@ 308 § 50,
House of the Parliament or that of
Legislature of a State. IL. i)"éi‘no&n S @Lé CRNNINIARNY
III. A dispute between the Government of 280 QQQé@é\) Q0200
India and a Union Territory. DrA0.
IV. A dispute between the Government of 1. 2>¢eh LXoaﬁaé 0, ﬁo@iré’)é
India and one or more States. PO 55 D0,
Choose the correct answer using the codes
given below : IV. 2@8¢h  (DaDedso, 28 Sor
I and TII @OBZ0T) DFS TIF® NS
DC0.
AMND AJLIAS FEOX &ITTROD
DB X)), DOTNEOR :
39. The National Commission for Scheduled 1T 0008w 111

Castes, while investigating any matter or
inquiring into any complaint, has the powers
on the following matters :

I. It can receive evidences on affidavits.

II. It can requisition any public record from

any court or office.

IIT. It can 1ssue summons for the
examination of witnesses and
documents.

Choose the correct answer using the codes
given below :

All of the above
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40. Consider the following Assertion (A) and
Reason (R) and choose the correct code :

Assertion (A) :

The Parliament of India consists of the
President and two Houses.

Reason (R) :
The President is a part of the legislature
even though he does not sit in

Parliament except for the purpose of
delivering his opening address.

Code :
Both (A) and (R) are true and (R) is the

correct explanation of (A).

41. Which

Fundamental Duties of citizens laid down in

of the following are among the

the Indian Constitution ?

I. To protect the weaker sections from

social injustice.

II. To develop scientific temper and spirit of
inquiry.
I11.

To preserve the rich heritage of our

composite culture.

IV. To safeguard public property and adjure
violence.

Which of the statements given above are

correct ?

IT, IIT and IV

(16)

40.

41.

808 N8B (A), 5EL0 (R) HNOABS0D),
DB FE QotHFoB

B9NEBe (A) :

2SS FE0ENS” TURADS, Bock HIe
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5200 (R):
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e>fo.

g&en :

(A), (R) BOCE® Q20 (R) &I (AFL OB
D€,
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L e ersaNO OB DTS
ST S8 0K¢%o0.
L 30D B9850, Derded )8
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42.

43.

44.

Which of the following entries of the Indian
Constitution deals with the institutions for
scientific or technical education financed by
the Government of India, wholly or in part,
and declared by Parliament, by law to be

institutions of national importance ?

Entry 64

Who said

traditional western sense but a comprehensive

“India 1s not a nation in the

culture of continental scope compounded of a
very large number of linguistic and religious
entities, highly complex and often strongly

antagonistic local cultures” ?

Carl Friedrich

The which of the
following Articles that denies the rights to

aliens (Foreign Citizens) ?
I.  Articles 29 and 30
IT. Article 19
ITI. Articles 23 and 24
IV. Article 16

Constitution confers

Choose the correct answer using the codes

given below :

I, IT and IV only

(17)

42.

43.

44.

2SS TSR 808 ¢3S 1S B
r0BBE DS FH0 2r8es (Deeh 0 yeOm
Sor Lo A HEFBNOA.
2PSBOD S0 EOAS HoRenr O
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45. Consider the following statements :

I. The Preamble was enacted before the
enactment of the entire Constitution.

II. The of the
Constitution but has no legal effect

Preamble 1s a part

independently of other parts.
I11.
IV.

It is enforceble through Courts of Law.

The Objectives Resolution by Jawaharlal
Nehru finally became the foundation for
the Preamble.

Which of the statements given above are

incorrect ?

I and IIT only

46. Which of the following statement(s) is/are

correct ?

I. The PM CARES for Children Scheme
was launched by the Prime Minister of
India on 29t May, 2021 for the children.

II. It aims to support children who have
lost both the parents or legal guardians
or adoptive parents or surviving parent

to Covid-19 pandemic.

Choose the correct answer using the codes
given below :

Both I and I

47. With child labour being made illegal and right
to education becoming a fundamental right for
children, this right against exploitation has
become more meaningful.

Which of the following pairs of Articles provide
for right to education and prohibition of child
labour respectively ?

Articles 21A and 24

(18)

45.

46.

47.
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48. Consider the following statements regarding
GST :

I. GST will bring more transparency to
direct tax laws.

II. GST was the 1227 Constitutional
Amendment Bill introduced in the
Parliament.

ITI. GST is a destination-based tax.

Which of the statements given above is/are
correct ?

IT and IIT only

49. Which of the bodies recommends the
distribution of the net proceeds of taxes to be
shared between the Centre and the States,
and allocation between the States, the
respective shares of such proceeds ?

Finance Commission of India
50. Which of the following is mot the function

of the National Commission for Scheduled
Castes ?
To submit the report to the Prime

Minister related to the protection of
Scheduled Castes.

(19)

2.I0.63.8 000D (808  1DELIOR
DOH3050&% :

L 28065 10558 D) THErO
08065 BB 8B BVOA.

Il 28.90.65. PT0E S |HSFDES
12285 T2 5005 DedBea .
B3, IO 1050 ecOeh
D).

08 AQISDEELSOS” B
DBIQ/IBED ?
[INVISIOWMITTIN VS I

48.
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51. Which of the following is not a function of the |51. 80& ¢35 OrACHNS IO HEFD EMAS
Union Public Service Commission (UPSC) ? (O30.2.000.2.) A 520 IO ?
Manner of reservation 823 B DS HAS
52. Which of the following subjects are listed in|go 808 35 113 :()AC@JOS@@B e
th 9 .
I. Women and Child Development
o LR D @D
II. Public Distribution System
V. VA 9, VA
I1L. Libraries I (89 HODES 555
IV. Slum Improvement and Upgradation . o asren
V. Markets and Fairs IV. 088570 @9DNYE O D
Choose the correct answer using the codes Lﬁa?;ﬁ(s
given below :
V. 35088, 23eebden
LILIIIandV ” y
AMS ARLAAS FEOD &HTIAOD
DB X)), DOTNEOR :
53. Which of the following statements is/are 1,11, 11BN V
correct about the National Green Tribunal ?
I. It was set up under the National Green
Tribunal Act, 2010, 53. RASS (AS  1BesSS  H80DS  80d
II. NGT is bound by the procedure laid L&)é(ﬁ)é@ef DA JBIE ?
(ilg\(z)v; under the Code of Civil Procedure, L 28 SHhSS Lﬁ S [_G’S&)Jg $S S G’&DO,
2010 (DSPB0 T®)EN DADDROE.

ITII. NGT has six places of sitting throughout

the country.

Choose the correct answer using the codes
given below :

I only

Il DS.2.63. DAS |rdzd §&, 1908
180 ABR0DS ITardE 5B
GONO&.

I d9.28.¢3. 8  T¥orsvorr
DBFS’ GoeNod.

AN BILIRS FEOX &ITTROD
DB DT, DOTNEOR :

IRV

s
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54. With reference to the Protection of Human
Rights (Amendment) Act, 2019, consider the
following statements about National Human
Rights Commission (NHRC) :

I. Judge of the Supreme Court can now be

appointed as Chairperson of the

Commission.

II. Term of the Chairperson and members
shall be three years.

III. Chairperson and members shall be

eligible for re-appointment.

Which of the above statements is/are correct
()

I, IT and III

55. With reference to the National Commission for

Minorities, consider the following statements :

I. It was set up under the National

Commission for Minorities Act, 1992.

II. Ministry of Welfare has notified five
religious communities under “Minority”
status, to date.

III. It can make recommendations for the
effective implementation of safeguards
for the protection of minorities by
Central or State Governments.

Which of the above statements are correct ?

I and III only

(21)

54.

55.
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56.

57.

58.

59.

60.

Recently, the term ‘Chicago Convention’ is
frequently seen in the news. Which of the
following sector is it associated with ?

Civil Aviation

With  reference to the  Competition
Commission of India, consider the following
statements :

I. It is a statutory body established under
Competition Act, 2002 as amended by
the (Amendment) Act,
2007.

Competition

II. It consists of a chairperson and five

members appointed by the Central

Government.
Which of the above statements is/are correct

?

I only

National Bank for Agriculture and Rural
Development (NABARD) was established on
the recommendation of which of the following
Committee ?

Sivaraman Committee

‘World Competitiveness Index’ is released by
which of the following organizations ?

Institute for Management Development

Kautilya categorizes the Governments and
Heads of Departments into 18 tirthas.
Amongst these “Dandapala” is the

Officer of the Army Department

(22)

56.

57.

58.

59.

60.

28350, 'V ETIS @O DB0 SSOP
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D00 &GO& ?

O RANVNIOWWNTS
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61.

62.

Part C

Indian and Andhra Pradesh Economy and

Planning

Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.

Assertion (A) :

in the
composition of National Income in India.

Reason (R) :
The

There 1s a structural change

process of economic growth was

initiated in India.
Codes :
Both (A) and (R) are true and (R) is the

correct explanation for (A).

The economist who said that the “Net Social
Product and the Social Income are one and the
same thing” is

J.R. Hicks

(23)

61.

62.
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63. Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.

Assertion (A) ©

Per Capita Income decreases in a developing
country even though National Income

increases.
Reason (R) :

The rate of growth of population is higher
than the rate of growth of National

Income.
Codes :
Both (A) and (R) are true and (R) is the

correct explanation for (A).

64. During which Five Year Plan was the rate
of growth of Gross Domestic Product the
highest ?

11*" Five Year Plan

65. Which of the following is not a feature of
MGNREGS ?

I. Guaranteed minimum wage
employment
II. Rights-based employment scheme

III. Generation of wage employment in rural

areas

IV. Provision of nutritious food

QUESTION DELETED

(24)

63.

64.

65.
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66.

67.

68.

What is the age-group of higher proportion of
working population required for Demographic
Dividend ?

15 — 64 years

Which of the following are the objectives of
Beti Bachao, Beti Padhao ?

I. To provide legal assistance to girls

II. To reduce decline in Child Sex Ratio

ITI. To encourage women empowerment

IV. To remove gender inequality
Choose the correct answer using the codes
given below :

II, IIT and IV

Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.

Assertion (A) -

National Income growth fluctuates with
fluctuations in Agriculture growth in
India.

Reason (R) :

Weather conditions, especially rains, are

uncertain in India.
Codes :

Both (A) and (R) are true and (R) is the
correct explanation for (A).

(25)

66.

67.
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BeS s, 2563 Do’ ©F semen (8oBFIS
DD ?

VD IISIM (oW
QFANNSOA0TNE

I eroe  Oof NS §
SHoHE

. e PQTOSD |8 Jr0THE

IV. ©0 @875 SOAOTHE
AMND AJLIAS FEOX &ITTROD
DB X)), DOTNEOR :
I1, TIT s0805 IV

180 BO (DFEISEN QD 5¢80 2380, 2,5¢3
BN8B (A) =, 8L 8o R
Sean® TOHLDAOA. AN ASES T&®

RO0B N DITFER) VOTHFOR.

Ho8Be (A):

2 SSTIOS S5O S90°
TEOISHOS  FRAH STOH Sy
2750 1S KBS0,

5280 (R):

STIGE DOV,  SVWIOMT  STEN
2rES$T3506S 90 )HOTP ) 0.

SGew

(A) DEAW (R) BOE® Q230 DB
A)8 (R) OB DS Bea.



GS/1G/100

69. Match the following :
List1
a. Trade 1.

List IT

Primary Sector

b. Water Supply II. Service Sector

III. Central Statistical

Organisation

c. Fisheries

d. GDP IV. Industrial Sector

Choose the correct answer using the codes

given below :
a b c d
I v I 111

70. Which of the following is not included in the
National Income ?

Tax Revenue

Interest Receipts from Public Debt

71. Match the following :

List I List IT
a. Iron and Steel I.  Perambur
Industry
b. Jute Industry II. Jamshedpur
c. Oil Refinery III. Kolkata
d. Integral Coach IV. Barauni

Factory

Choose the correct answer using the codes

given below :
a b c d
II III v

(26)
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70.

71.
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72.

73.

74.

When the Central Bank increases the Cash

Reserve Ratio, it leads to
I. Fall in money circulation.
II. Low demand for goods and services.
III. Rise in purchasing power of the people.
IV. Rise in bank’s lending capacity.

Choose the correct answer using the codes

given below :

I and I only

Statutory Liquidity Ratio is to be maintained
by banks in the form of

I. Cash.
II. Gold.

ITI. Unencumbered investments in specified

instruments.
IV. Priority sector loans.

Choose the correct answer using the codes
given below :

I, IT and III

Gilt edged market comprises

Treasury Bills and Government Bond
Market.

(27)
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75.

76.

77.

Non-Performing Asset as per the current

banking norms is

A loan whose instalment of principal
and interest amount has remained
overdue for a period of 90 days.

Name of the committee on Indian banking and
financial sector reforms constituted by the

Government of India in 1991 is

Committee on Financial System

Para Banking Services include the following :
I.  Credit card business
II. Insurance business
III. Credit to para military personnel
IV. Factoring services

Choose the correct answer using the codes

given below :

I, IT and IV

(28)
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78.

79.

Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.

Assertion (A) ©

Goods and Services Tax (GST) introduced in
2017 is non-inflationary.

Reason (R) :
GST system avoids tax-on-tax.
Codes :

Both (A) and (R) are true and (R) is the
correct explanation for (A).

Match the following :

List 1 List IT

a. 10™ Finance I C. Rangarajan
Commission
b. 11*" Finance II. K.C.Pant
Commission
c. 12" Finance III. Vijay L. Kelkar
Commission
d. 13 Finance IV. A.M. Khusro
Commission

Choose the correct answer using the codes
given below :

a b c d
I I1v I II1

(29)
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80.

81.

82.

83.

Given below are two statements, one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.

Assertion (A) ©

Budget Deficit financed by printing currency
will lead to price rise.

Reason (R) :
More goods will be produced in the economy.
Codes :

(A) is true, but (R) is not the correct
explanation of (A).

Part V of the Andhra Pradesh Reorganisation
Act deals with

Authorisation of Expenditure and

Distribution of Revenues.

Polavaram Project is a

National Project.

How many Schedules are there in the Andhra

Pradesh Reorganisation Act ?

13 Schedules

(30)

80.

81.

82.
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84.

85.

Apex Council of Godavari and Krishna river

water resources and their management

consists of

Minister of Water resources,
Government of India as chairperson and
Chief Ministers of Andhra Pradesh and

Telangana as members.

Andhra
implementing YSR Rythu

Pradesh s
Bharosa — PM
Kisan Scheme for the benefit of farmers of
Andhra Pradesh.

Which of the following statements are correct

Government  of

about the above scheme ?

< 13,500 is given to a farmer’s family in

three instalments every year.

(31)
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86.

87.

88.

89.

90.

One of the following welfare programmes

implemented by Government of Andhra

Pradesh is not part of Navaratnalu.

Vahana Mitra

The following App developed by Government
of Andhra Pradesh is an SOS service for
women in distress or danger.

Disha

The CCRC introduced by Government of
Andhra Pradesh stands for

Crop Cultivator Rights Card for providing
assistance to lease-holders.

Areawise, which of the following districts of
Andhra Pradesh is the smallest ?

Parvathipuram Manyam

Who among the following is a heavyweight
weightlifting champion who hails from Andhra
Pradesh ?

Dandamudi Rajagopal Rao

(32)

86.

87.

88.

89.

90.
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Part D
Geography
91. Consider the following statement and answer

92.

93.

the question.

Statement -

It took more than a million years for the world
human population to attain the one billion
mark. But it took only 12 years for it to rise
from 5 billion to 6 billion.

Which of the following time period can be

represented from the statement ?

1987 — 1999

According to the Scheduled Castes
Scheduled Tribes Orders (Amendment) Act,
1976, how many Scheduled Tribes are notified
in the State of Andhra Pradesh ?

33

and

As per Census of India 2011, which of the
of States

Territories does not have Scheduled Caste

following group and Union

Population ?
QUESTION DELETED

(33)

91.

92.

93.

O D

ENR(OrS
808 (D3OI d8KFobod, (DE50
QTG0 A 0.
8RS :

D0 338y 83772 2,8 DOONN K0y
BOTIEAE 2.8 WOHS D0 ore §0T
D802 HHONO HE0A. 520 & 5 DA
0B 6 DOANHRH  DEKEIE B0
12 5058 yoren HEoH.

808 73S D HNOH SO (DEEIS o0&
QrDOTIITDY ?
1987 — 1999

AETEIS Boeren, NETD 8ie &S

(D588) WO, 1976 (D50, SOJNTT

TR0’ A ST Bifen eI TFS ?
33
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94.

95.

96.

(34)
Match the following (Sex Ratio) : 94.
List1 List IT
a. Puducherry I. 993
b. Tamil Nadu II. 1037
c. Lakshadweep III. 996
d. Andhra Pradesh 1IV. 946

Choose the correct answer using the codes

given below :
a b c d
IT III v

What percentage of rail routes were electrified
in India by March 2019 ?

5091%

Match the following Coal-based Thermal
Power Stations and their States :

List T List IT
(Thermal Power (State)
Station)

a. Kudgi I.  Chhattisgarh
b. Kahalgaon II. Karnataka

c. Sipat III. U.P.

d. Dadri IV. Bihar

Choose the correct answer using the codes

given below :
a b c d
I 1Iv I 111

95.

96.

808 °¢3Q 3¢5 TAHO (o DX :

e 1 e I
a. DO I. 993
b. ¢ II. 1037
c. 5D III. 996
d. SoBINBT IV. 946
AN RS RS TR EHTIAOD
DB DT dOTHTOR :
a b ¢ d
I Iv

S8 2019 T°e38 2rBSTIOS” DOd FS0
BeN SrFren DAEB0T ?
5091%

& 808 M &5dd HRNSO DS
VAN 537¢3 T (TS HOFI0A

e [ e [T
(BESD D36 (o7 ")
Daab)
a. S08H L S966
b, &5erS I ST
c. DE . oN..
d O IV. 956
AN RS RS FEO ENTAOD
DB DT, DOTNEOR :
a b C d
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97. Match the following : 97.
Me t{z ods of Agricultural
Agricultural Geographer
Regionalisation
a. Crop I.  Weaver, Doi
combination
b. Crop II. Bhatia, Jasbir Singh
diversification
c¢. Crop III. Chisholm, Bhatia
concentration
d. Agricultural IV. Kendall, Majid
productivity Husain, Jasbir

98.

99.

Singh
Choose the correct answer using the codes
given below :
a b c d
I 1II 111 v

Which of the following type of grassland
separates Cold Asia from Dry Asia ?

Steppe

According to the Indian Forest Act, 1927,
which of the following is the most appropriate
sequence which shows the degree of protection
between different forest types ?

Reserved Forest > Protected Forest >

Village Forest

98.

99.

808 ¢3Q B3S$TONOR
IvIvEvL e
o3 faded°AD
L?”Oe?ws(dez) DS 3 S
NI ISV
a. Hoed SO L D55, Sow
b. HOLOBASO IL  23e305, 230)0
oh
c. DOLINTHId I QES, 23305
d. S5droheseEe )86 IV. 0@, Sr3d
TORS, 2326
oh
A BR LIRS TR GHTrAOD)
DB X)), DOTNEOR :
a b c d

I II II1 v

808 e3S° & BEDS KB Bradwen IO
VAT TS VO OB B DO ?

)

28¢5 ©e38) WO, 1927 |D5°E0, AN 857
@D B850 NAS B8 TON 0D
8060 ¢3S @550 DINDSS 1800
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100. Which of the following indicator species are
not found in Srivenkateshwara National Park
of Andhra Pradesh ?

Wood stork

101. Which of the following is the first pipeline
constructed in India for the transportation of
crude oil ?

Naharkatia — Nunmati — Barauni

102. Andhra Pradesh is the sole producer of

QUESTION DELETED

103. Which of the following factors are responsible
for the

tropical regions as compared to sub-tropical

higher Sugarcane production in
regions of India ?
I. Cool nights with clear skies
II. Latitudinal position
III. Long hours of sunshine
IV. High temperature disparity

Choose the correct answer using the codes

given below :

I, IT and III only

(36)

SOBIDTTS'D TI0EBIF S FASS 38y
&3 1808 ITDODN 23768300 D EIDOH) ?

& &0y

100.

80 ¢3¢ A& G Sarer §H0
2PBSTFOS ABIODS JNHES DNBS D ?

LB 3055 — 652 — 23T

101.

102. e0(Q(NTT D38 &es 1B

0% SONod2E0d
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FOR &A% [0S @hE TS
&% 108 808 585N D SENY TN ?
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104. Who among the following made the first
attempt to demarcate Indian Agriculture into
4 macro regions ?

Sengupta and Sdasyuk

105. Which among the following statements are

true about Indian Steel Industry ?
I. India is the second largest producer of

steel in the word.

II. Indian steel industry produced
51 -89 Million Tonnes crude steel with
5-1% share in the total world
production.
III. The production of steel in the year 2020
is more than the previous year.
IV. India is ranked first in the production of
crude steel.
Choose the correct answer using the codes

given below :

QUESTION DELETED

106. Match the following Geographical Heritage
Sites with the States (location) :

Geographical
Heritage Sites States
Lonar Lake I Odisha

b. Siwalik Fossil Park II. Rajasthan

c. Akal Wood Fossil III. Maharashtra
Park

d. Pillow Lava at IV. Himachal
Nomira Pradesh

Choose the correct answer using the codes

given below :
a b c d
III IV II

(37)

104. 808 OS’ eTG0D S5SIAT)
4 e ([@ro@ren  HO0T  R[ndes
10005),0 DB T3 2

QRN 0O DS

105. @SSO &) HOFNH Ho00H0D Eod
¢3S’ DE D230 ?

L &30y ¢reh DS oSS0 BOCS
TS0 &od.

Il 2SB0D &0y HOFH Swbo
D0TS E5ed)BS 51% TETS 51-89
DTN IR NG B0
&55)€d TROD.

. 2020 HDOSESIBOCS” €580y, Esed el Kieh
006550 0T BP0

IV. S0& &50) 5B’ erSS$T350
R06¢3 TS0 &od.

A BN LIRS FEOX &HTTAOD)
DB X)), DOTNEO :

0%), SOA0DR0L

106. 808 VS >3Ihs (NBFTOD T GFeOS

(DTF0) SO Y0G :
THDE TS, ¢
(0870

a. Sod HBM). L

b. JOE ;IS 0 1L

c. @50 H& O  IIL
>0y

d SDHoe IS S
S°e)°
AN RS RS TR EdTIAOD

DB DT, DOTNTOR :

a b c d
IIT IV II I
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107.

108.

109.

110.

Which of the following geographical series is
notrelated to Vindhyan system ?

Khondalite Series

Which of the following are a result of

depositional activity of the Himalayan rivers ?
I. River Terraces
II. Braided Channels
II1. Alluvial Fans
IV. National Levees

Choose the correct answer using the codes
given below :

QUESTION DELETED

Which of the following Southern States shares
boundaries with maximum number of Indian
States ?

Karnataka

There is a Place-A with longitude 060° West.

There is another Place-B with longitude
090° East.

If the local time at Place-A is 10 AM, what
would be the local time at Place-B ?

8 PM

(38)

107.

108.

109.

110.
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111. Consider the following statements regarding
India :
I. India has an area of 328 million sq km,
and accounts for about 2 4 percent of the
total geographical area of the world.

II. The mainland of India extends between

latitudes 8°4' N and 37°6’ N and

longitude 68°7' E and 97°25' E.

III. Presently India has 28 States and
8 Union Territories.

Which of the statements given above is/are
correct ?

I, IT and III

112. Match the following Irrigation Projects and
their States (location) :

Irrigation Projects States
a. Parwan Multipurpose I. Madhya
Project Pradesh and
Uttar Pradesh

b. Renukaji Dam Project II. Uttarakhand

c. Lakhwar
Multipurpose Project

d. Ken-Betwa Link
Project

III. Himachal
Pradesh

IV. Rajasthan

Choose the correct answer using the codes
given below :

a b c d
IV III II

(39)

111. 27878 S0220H0D (80d 1HZLSO
HOHS050% :

L 2r3S330 328 OONS IASE))
BSOS AT  ¥OR  &od.
D00 InBo  ITHOE
IFTO0S ) 24 FTHO TEF
DA ok,

I 2S5 DTS Xrerio
OZOF°CN 8°4' DN, 37°6' AN
Baroso 68°7 @ 97°25 ¥} NS
AAB0D) &OA.
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113. Match the following Tiger Reserves with their

114.

115.

States (location) :

Tiger Reserves States
a. Periyar I.  Chhattisgarh
b. Sariska II. Rajasthan
c. Buxa III. West Bengal
d. Indravati IV. Kerala

Choose the correct answer using the codes
given below :
a b c d
IV 1I 111

Phlogopite and Pegmatite minerals are related
to
Mica

Which of the following is currently the biggest
Thermal Power Plant (with an installed
capacity of 4,760 MW) in India ?

The Vindyachal Thermal Power Station,

Madhya Pradesh

(40)

113. 80& DD 823050

114.

115.

¢S O XOS
LBFN0B (DTH0) :
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116.

117.

118.

119.

120.

The greatest variety (diversity) of animal and

plant species can be found in

Tropical Moist Forests

Seasonal differences are maximum in

Mid Latitudes

What is the proper river order from North to
South ?

Jhelum, Chenab, Ravi, Beas, Sutlej

Naupada Coastal and Marine Biodiversity
Area (ICMBA) is located in the district of

Srikakulam

of the

atmosphere in descending order (in terms of

Arrange the following constituents

their quantity) :
Nitrogen, Oxygen, Argon, CO,

(41)

116.

117.

118.

119.

120.
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Part A

General Mental Ability, Administrative and
Psychological Abilities

There are nine 2-digit consecutive odd
numbers. If 59 is the mean of the first five
such numbers, then what is the mean of all
the nine numbers ?

63

Latha went to the market to buy some
vegetables. While leaving her house she
checked her wallet and got to know that she
had some hundred-rupee notes and some
twenty-rupee notes. After shopping she had
the same number of hundred-rupee notes as
she originally had twenty-rupee notes and the
same number of twenty-rupee notes as she
originally had hundred-rupee notes. If the
remaining money was one-third of what she
initially had while stepping out of her house,
find the initial ratio of the number of

hundred-rupee notes and twenty-rupee notes.

71

In a class, Raghu got the 11th rank and he was
318t from the bottom of the list of boys passed.
Three boys did not take the examination and
one failed. What is the total strength of the

class ?

45

(1)

a0 A
238 oS IDDES, 0B VS $H>8050
DEerRES IDOSD

1. SO BO-®OS®D I B Dowsew
G0N, @eroed JDES 0N dowsed
QEEN 59 @ONSB, JINBO AN DOV
QHED DO ?

63

2. O ) Erdmroen S8 S0y

8 JD0D. S R0¢3 o0&
ONENTBENY IR &I DY S TODT,
S0 I 508 BIrraN S SHOAW )
[ER ETIOND SV &) AN BOVOA.
LDON TID HT°4eh SR IX e /SR
EFIPOND S €55) T 508 EFaraRde SEW
BP0 G 0N, NBAM SR B eden
5085 EFrOHO Y sn®  ass
EFroDO S S & on.  AOS
¢92) €5 Q0e3 OB 2038 DT HED)E38
SR IO &) TAS GO 28 S0k
©ONS, S0 EFFOHO SEY B AT
EFrOHe S Hoxs B, (2r802s
DHIDD ESFH0R.
7:1

3. 28 S3IBS, SHw 115 0508 Srome®d

200050 8 SBGS FBODS FHONS
DS BN Hod 315 TS0
&) C0.0M A e2ryonen HOE TrAHS,
2835 Do eO5TR.BNS JnBo Do
20e ?
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124 chocolates were left when the total
chocolates in a box were divided equally
among 403 students. How many chocolates
would remain if the chocolates from the same
box are  distributed equally among

31 students ?

0

A shopkeeper has three cloth pieces of lengths
7 m, 3 m 85 cm and 12 m 95 cm respectively.
He measures each of the three cloth pieces
with a rod at his disposal and finds that the
length of each cloth piece is an integral
multiple of the length of the rod. What can be

the maximum length of the rod ?

35cm

100 students were to participate in school
games. 60 students participated in game 1,
while 50 students participated in game 2.
10 students did not come on time, so they were
disqualified. How many students participated

in only one of the games ?

70

(2)

28 VS J0Bo D 403 DO
DT§ROE IXFSOMT HOIBOS 124 T°3EN
WAerow. ©F DBRS'D IR 31 OO
DTIDOH HITPSOT OB D) T SEW
D Heneow ?

0

28 SRR SRIM™ T D, 3 D
85 0.0 D8O 12 & 95 0.80 Y i
30078 MG S0EEOX EOR o) . e
S5 3D &) TES A b
BTAN  FenPedd SHOAW 1D SQ0o
O30EY FChe) TG ABNEY &PCse) O30EY (s
0080 @ EFoerdd. ol BE) (KO
) D0 52T ?

35 0.90

A S BNST 100 08 doesden
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10 08 Jesen H0S TrENFSoS

O 3B [en DR, 28 B
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70
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7.

9.

In a rural market there are two types of
vendors, X and Y. 70 percent of the vendors
are X, and 60% of the X earn < 50,000 or more
in a month. Total number of vendors who earn
< 50,000 or more per month in the rural
market is 48 percent of the total vendors.
What percentage of Y earn less than
< 50,000 ?

80%

Select the missing numbers from the given

alternatives.
17 12 11
47 | 43 ?
4 5 6
55, 49

If we listed all numbers from 100 to 10,000,

how many times would the digit 5 be printed ?

3980

(3)

28 e X785 Boch S5 JBehen
&0EFS X OAM Y. 70 350 JBehen X,
06050 60% X 2.8 JeS < 50,000 S 06k
E0T) DBVYS DOTETS. (Paded S8y ¢S
S0 <50,000 BS® @OHZ0T  DELD
QOTAOT B0 JEBHe dows JInSo
JEBSOS’ 48 F50. <50,000 F0T> 50)
QOIEND) Y d0Ocd 3250 ?

80%

QI LR D) AT DO €90 YPFON
DOV DOTHFOER.

17 | 12 | 11
47 | 43 ?

4 5 6
55, 49

DA 100 oG 10,000 SO )
HDOPIOD DT TR, @08 5 AT
INWATIRTATa N Wl

3980
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10.

11.

12.

A businessman wants to make some profit by
selling a certain item. He thinks about several
methods to make profit. Which of the following
would maximize his profit ?

IT only

Find the wrong term in the given series.
7,12, 40, 222, 1742, 17390, 208608

1742

Excluding stoppages, the speed of a bus is
84 kmph and including stoppages, it is
70 kmph. For how many minutes does the bus

stop per hour ?

10 minutes

(4)

10.

11.

12.

208 Sarddg 28 B SAH
(e MeInTate) o 5o° §o¢ 50

SPOTONZ0EFTER.95 D 250 FONEE
©IE IO HO0D SSIITCE. 8o
FE3S” DA 95 T WOTNS0E ?

IT S5o°(¢hadd

2D VEVS’ 859 DT, E0FI0E.
7,12, 40, 222, 1742, 17390, 208608
1742

T2 O DITFONOD), 20 K0 84 8.8
B0 FDEOE DD, 9B 70 §.0.2080)
505D D) Aadar e &8(HeOE ?

10 QXN
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13. Consider the following pattern of numbers :
2+4+6=14
12+7+3=22
17+5+8=18
9+7+1=4#

14.

15.

Which number will come in place of the # ?
11

A child made a big cube by joining 64 smaller
red cubes. He then painted the faces of the big
cube in yellow colour, except one face. His
teacher came and dismantled all the cubes
and asked him to count the number of cubes
whose two faces are yellow. If the child
answered correctly, then how many cubes did
he count ?

20

In a school sports competition, 40% students

participated in shooting, 35% students
participated in wrestling, 32% students
participated in  boxing, 9% students

participated in shooting and wrestling, 11%
students participated in boxing and wrestling,
8% students participated in shooting and
boxing and 5% students participated in all the
three sports. If 64 students did not participate
in any sport, then find the total number of
students in the school.

400

(5)

13.

14.

15.

BO& 50§ Seduraredd HORe300G :
2+4+6=14
12+7+3=22
17+5+8=18
9+7+1=#
# TS0 & Do SO ?
11

L8 DO 64 B DY) HrsSeod
EONB0 7 50° DR 8575250 SOSTrEd TFC.
SR INVIEESIINWE ORI VNSO LI T ISV -]
S0P HDXVR) B0 DB 0T, S
BBy DY), @) 85O VGBA), Bo
S0IPEN DY SoHS &S) e
QOWED  BELoIND  ORTR. DD
QBT DITETS0 QD IO, 9¢5: D)
Eorsd D S8pomredd ?
20

3T S ¢3S, 40% drshen Hre3oh
S ST, 35% N0 Jresen BRoA
S FST) K, 32% OO sden 28 yoh
S PSS, 9% doesden  Hre3oh
B BROAS TSNS, 11% SH0d
Jersen  2r8yof  H8A»  BRohe
DK, 8% Nrrshen Ne30f SHOASW
28 00" )50 BN 5% Jesoen
Sorcd (8% PSS, 64 HOS
ArsHen AT 8BS SIS,
FEFOS  JnBo  dorsDHe  Homsd
EFS0E%.
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16.

17.

18.

19.

20.

The calendar for the year 2009 will be the
same for the year :

QUESTION DELETED

What can be the maximum sum of Saturdays
and Sundays in a normal year ?
105

If in a particular non-leap year, the month of
June had 5 Mondays, then that year must
have started with which one of the following
days ?

None of the above

How many pairs of positive integers m, n

satisfy the following equation :

1 4 1
— 4+ — = —_—,
m n 12
where n is an odd integer less than 60 ?
3

If x = — 0-5, then which of the following has
the smallest value ?

1

X

(6)

16.

17.

18.

19.

20.

2009 D0X5e5)YT°V8 H0DOHONS °§S30cd
& 0N Y078 2,8 DO E&OENOS :

10%8), SOR0ODGBOA

S DS80S
ST K8 BNDO DOEH ?
105

IV IENVIGIOWW)

DB OHTDBS HoHSI 30, 23S IS
5 FOIPTEN  GOB), & D035 )50
SIHINOET™ 808 Fe3S” & TS | G0
SO ?

NI 5%

D) 2350 O°eE J°T°05en m, n S0

DNEBETRY), DO YRDBOW
1 4 1

m n 12°

28368 n IO 60 E0TY $%0).e 23 JrT 080 ?

3

x = — 05 @0, 808 T3S’ A D)
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1
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21.

22.

23.

Two liquids A and B are in the ratio 5 : 1 in
container 1 and 1 : 3 in container 2. In what
ratio should the contents of the two containers
be mixed so as to obtain a mixture of A and B

intheratio2:17?

5:2

There are 6 members A, B, C, D, E and F in a
family who are spread across 3 generations.
There are two couples in the family and no one
from the third generation is married. E is the
wife of C. F and B are a couple and the only
people belonging to their generation. There

are 4 male members in the family.

Which of the following must be true ?

There is no female in the third

generation.

Let N be the greatest number that will divide
6360, 7420 and 9540, leaving the same
remainder in each case. Then the sum of the
digits of N is :

7

(7)

21.

22.

23.

A 8050 B @98 Boch (e S0BSE 165
511 OO0 0SB 2 S 1:3 ddBS’
Goera. 2:1 RS A H8S» B
FSTRY, FOTOCHE BO Z0BSEOS
00O @ AANBS’ O ?

5:2

PR ST AABO0D) &) Foeno0eS
6 DO J2vgen A, B, C, D, E HOAW F
&) 0. 00206 RS 230EIEN ) KD
BAN 08 SB0 OB DIET DTTO
BOFS. €, E Bwgperds. F das» B
208 NOAN 8 STVE ToAS I3
S5EEeN.  Hoe0D0S 4 N0E  HEEN
Goo) K.

808 ¢3S° O 230 ?
Q07565 S$30S° |1 B.

6360, 7420 OO 9540 2rROT FD)
doxs N o &oddN05, |13
HDOBBIOS AT 0T NAO &0d. ) N
S 0T o

7
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24.

26.

26.

What is the number of triangles in the figure

given below ?

14

The circumference of the front wheel of a cart
is 30 feet and that of the back wheel is 36 feet.
What is the distance travelled by the cart,
when the front wheel has done five more
revolutions than the rear wheel ?

900 feet

Ramesh wants to plant 372 tomato plants,
558 chilli plants and 1116 onion plants in
equal rows. Also, he wants to make distinct
rows of each plant, i.e. every row should have
only one kind of plant. What are the minimum
number of rows that are required ?

11

(8)

24.

25.

26.

Bo& ANIDAD QoS |BeHered HoWS
D0 ?

14

208G 00D HIE0 NEPTeeS 30 eocdirden
DB INE B0 36 e, o
DEO JIDE JBo 0B 0D DH0pD
(Z3e0ETPeN  TODD)E, D0R  DASTBEoDS
80 DOed ?

900 eoc%Hen

SR 372 STer Bnren, 558 BN
InEren, 1116 & INELen DTS KOS
TPErONZT®) (. @ern, @95 (D3 B0
T, DD SHOO& ST
BOSFORNE0ENT") . 0T, (D& SBOS’
23 S5O Bgyen &od. IISRS
€9 HBIO EAD HOWS DNES ?
11
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217.

28.

29.

The total number of integers between 400 and
600, each of which, either begins with 5 or
ends with 5 but not both, is

100

A shopkeeper is selling his goods at 40%
discount, but is still able to make 20% profit
on the list price. By what percentage does he

mark up his goods ?

100%

Anand and Rishi are the two biggest

competitors of chess. The probability of Rishi

losing a game against Anand is 75%. What is

the probability that Anand loses at least one

out of the four games played between them ?
175

256

(9)

217.

28.

29.

400 DOA 600 NG5 &S)  Iwdo
JTO5O  Dops, DS DB 2,83 5SS
IBB023509B0080 S 58 S0HN0E 50
DO 5°C,

100

208 SRR B SWYOL  40%
SH0HS JE0NNT*YE, oI BIIE3S
20% N0 OO, @B S
SO o TS0 S8) TR ?

100%

S308 HBAN A TS 2dBH DY
PSRN, SI0ESE BOAS SrsSS” B
LA @ITF0 T5%. O QS s8AS
e BeeS e8508 §00 25IS S
LA H02TH5ed e ?

175
256
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30.

31.

32.

A tank has eight pipes, some of which fill the
tank and the rest empty the tank. Each inlet
pipe fills the tank in 8 hours while each outlet
pipe empties it in 6 hours. If all the pipes are
kept open when the tank is full, it takes
6 hours to drain the tank. How many pipes are

inlet pipes ?

Four

Ajeet and Sujeet go for shopping in a mall.
They use an escalator to move between
various floors. The escalator moves at a
constant speed. Ajeet takes nine steps for
Ajeet takes
30 steps to reach the top of the escalator,
while Sujeet takes 20 steps to reach the top. If

the escalator was turned off, how many steps

every five of Sujeet’s steps.

would they have to take to walk up ?

80 steps

A beats B by 15 seconds in a 200 m race, B
beats C by 25 seconds in a 500 m race, C beats
D by 32 seconds in an 800 m race and D beats
E by 35 seconds in a 1 km race. What must be
the speed of A in order to beat E by 800 m in a

2 km race ?

333 m/s

(10)

30.

31.

32.

28 X505 QAWE NIV GOErOw,
eSS §) o8 QoHToN SHBW
WADSD  ers05 .  Trow. oy
2SBE 2D @505 8 K0S QoHHOA,
2.8 ©HEBE ) 6 oS ) @
BROA. €505 QORI @) DO
B0 GODSLANS, €rs0§ @ (Bows)
TORN@AE 6 KON DO, [E
D DY DY ?
orend

©ESE O NES ¥ SrSS rdoh
DONEIE JFeX. X AV 905N
30638 B3B8 AL BB DA .
DD VDS oS E0enednod.
0ES S (D3 2080 N8 928 Fad
NN IR, @S 0B D8
DOTIEIE 30 MHen I, oS
S D8 BHESTOL 20 ecHED IV

A B0 @D TOHAAB, B D8
S$3T8 D) €K JASFO ?
80 e cdiHen

200 IS B’ A, 15 DEIS B, 500 Dedd
BS® B, 25 VEIS €, 800 m BS’ C,
32 VEXS D, 1 km BNS’ D, 35 ED
S@ES EQ 4L&ow®. 2 km BS EQ
800 D B L.B30Tr0T A TZE), K0
D0 GOTd ?

3:33 O/
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33.

34.

35.

5 persons will live in a tent. If each person
requires 16 m? of floor area and 100 m? space
for air, then the height of the cone of smallest

size to accommodate these persons would be

1875 m

A 5 X 5 X 5 cube is formed using 1 x 1 x 1
cubes. If we add another layer of such 1 x1x 1
cubes in the 5 X 5 X 5 cube, then what will be
the number of 1 X 1 x 1 cubes in the newly

formed cube ?

Question deleted

A change-making machine contains one-rupee,
two-rupee and five-rupee coins. The total
number of coins is 300. The amount is < 960. If
the number of onerupee coins and
two-rupee coins are interchanged, the value
comes down by <40. The total number of
five-rupee coins is

140

(11)

33.

34.

35.

28 HETB0S 5 N0 DIVTH. (63 5588
16 Q0% P8 BAST HBAM 100 a»? rd §H0
Q0 BOIIEDB, & VOB SHe3
D10V @8 D) HBSr0S &)
S D Doeh ?

1875 &0

1x1x1 8800 GIAN0D 5 X 5 X 5
5525 DBICBOE. S0 5 X 5 x 5 5SS
©ENN0E3 1 x 1 X 1 NI BNEY &S
FB SEV, 959160 TSP AEIBS drseS S
1% 1X 100 QOPS DO ?

10%), SONodHDE0E

DOE T 0Ho(oS 2.8 Srarow, Bock
ErrON® DOAN 00 SFrONe TPEIEW
OO, INBO TPHE JOWS 300. NSO
<960. 2,8 SrPON DPEEN DO DO
SrrOde  TPERO QoW DBD)YB0
STENB0TY, DeNDd < 40 YSB0H. NSO
2060 EraroHe TP HOWS

140
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36.

37.

P, Q, R and S are four statements. Relation

between these statements is as follows :
I. If P is true, then Q must be true.
II. If Qis true, then R must be true.

III. If S is true, then either Q is false or R is

false.
Which of the following must be true ?

If P is true, then S is false

A decorative lamp has 2 brown, 3 green and
4 white bulbs. What is the probability of
lighting three bulbs such that at least one
bulb that glows is white ?

3
42

(12)

36.

P, Q, R OB S @D renth REoIen.

&8 VE DO S5 o050 [§od JSorr
GONOR !

L P BB, Q #5008 Q230 0w
&GO ®.

I, Q BB, R D)8 D230 0w
&GO,

III. S QBB Q 5)) S>® R 9T ).
20A 3°¢3¢S° O D230 @O &GOS ?

P A2S, S ¢63))

28 @058 AN0 2 N, 3 e80DY)
NOAD 4 BeND) 2NN EOH GoENOH.
EAV0 28 o) SO IOTer S
20)O ION0T H02TI5eh DadeS ?

3
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38.

39.

40.

In a college, 25% students play football. A
student who does not play football, plays

cricket. Every cricket player wears a cap.
Which of the following conclusions cannot be
made from the above data ?

I. 25% of the students do not wear caps.

II.  No cricketer plays football.

Select the correct answer using the code given

below :

Both I & II

The total number of students in a class is 400.
The ratio of number of students who like Arts
and the ones who like Science is 3 : 5. The
number of students who like Science is more

than the ones who like Arts by how much ?
100

English alphabets A to Z are numbered with
the first 26 consecutive prime numbers.

If PQR = 519 and UVW = 705, then what is
JKL equal to ?

291

(13)

38.

39.

40.

28 oS, 25% D0 Jshen HESerS
e8CBTYD. PSS e Drsd 183
e3CHTCR. (D& 83¢5 NAND 5259 OE.

D BEP DHOS 80H TS D BTN
TANSSW ?

L 25% 08 Deesiden e 80t&.
I (830 HErS escscd.

AMS ADNS FTEY &IZrA0D OB
D) VOO :

I 08asw IT oy

28 SSHRS” o Joeshe Sows 400.
(S8 BADE D00 DS AASE
DO oW AAYD 31 5. EFOD YNNT
0 0T DRIV YRIT ATED SO
20 ?

100

&0l SPXren A OB Z I Jncded
26 SED (DS HoW§OS B8 0IDTOW.

PQR = 519 08050 UVW = 705 eons3, JKL
0T B8 D35S0 ?

291
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41. Pranav sold two books at the same price. On|41.
one book he made a profit of 10% while on the
other, he incurred a loss of 10%.
In this case, which of the following statements
is correct ?
He suffers a loss of 1%
. . 42.
42. In the following question, select the number
which can replace the question mark (?) from
the given alternatives :
3 14
9 /216f1331\ 3
15 ? [125 9
28 4
2197
43.
43. Kranthi is facing west. She then turns

45 degrees in the clockwise direction and then
another 180 degrees in the same direction and
then 270 degrees in the anti-clockwise
Which direction is

direction. she facing

now ?

South-west

D BOB JATOH 2T HER
DEONOTTCR. 28 HNFOS’ ¢5 10% €250
SO, NTETD 10% SQFOSTCR.

&8 0SS0 0B 3¢36S° HBIE DE ?
@653 1% 5oL IDTITFCR

808 19, %) X ) S Godke
Qo ADNS D) ovo  Hod
DOTHEO
3 | 14
9 /2161331 3

15 ? [125 9
28 4

2197

(508 DS SNPOTT OO, B3 DIBIS
45 & Aen B0 T OIS 8 180 &(fien

@2 SBBE D5BIST 270 BBew
STBIBI0E). B IED €330 & BBVL GOE ?
PN oM2)
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44.

45.

A watch loses 90 seconds in an hour and the
watch owner adjusts the time lost by the
watch in one day at the end of 48 hours. After
how many days will the watch show the
correct time before the watch owner adjusts
the time ?

40 days

The figure below shows the opened-up version
of a cube with dots on each face :

Which of these cubes (I and II) show the
correct position of the dots ?

[ ] [ ]
1N .
L L [ ]
L ]
[ ] [ ]
[ ]
.
II. - ee
L ] L e
L L ]

Select the correct answer using the code given

below :

Both I and II

(15)

44.

45.

08 S oS 90 I TS Hehod

OB S ANBITR 48 Ko SNA0HS’

28 S 8 FSHomd  Hehasrd)

QBTN TR, S ONBITR DDAST)

JBeren BTOHETAE SN0 M) Bere

ST°55 P OB DeDAT), TI°e)eOD ?
40 Fezen

AMS X302 (DN SNPOD TNELOS FTrBS
807525 A3NEY A DR-92) BV TIT)B0H

& oo A (I HBASW II) vEre OB
TR, L0 ?

1N .

IL. ol

AMNS ADYS FTEY &IrAoD OB
D) DOTNTOR

I 08aw I Bodsr
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46.

417.

48.

There are 6 tasks and 6 people. Task 1 cannot
be assigned either to person 1 or to person 2;
task 2 must be assigned to either person 3 or
person 4. Every person is to be assigned one
task. In how many ways can the assignment
be done ?

144

In a row of 40 girls, when Ankitha was shifted
to her left by four places, her number from the
left end of the row becomes 10. What was the
number of Kanchana from the right end of the
row if Kanchana was three places to the right

of Ankitha’s original position ?

24

Vaccination drive for Covid-19 is carried out in
a village of 1000 people. The first person that
comes for vaccination is placed in Group A, the
next two in Group B, the next 3 in Group C,
the next 4 in Group D, and the next 5 in
Group E. After the 5th member of Group E, the
pattern repeats, starting from 1 member in
Group A and so on. The last beneficiary to be
vaccinated belongs to

Group D

(16)

46.

417.

48.

6 DN DBAW 6 DO H§BVeN ) K.
D 1 558 18 Soe 358 28 Tercn0t923¢e;
D 2 SIHIROB™ 3 H588 S 4 Hs88
SeronodnEd. (D& H88 a8 DA
BeroN0wrd). RRNOND ) Bseenrr
TORITY ?

144

40 D08 @ET0NS  SBHDS, 085
e S ABAIIE SOOI,
SBDS” DB DS oG & Sows 10
©)e08. @08 eJen Y8 TS
OIS S SRS GO, KD RS
DG D0 PO SO DO ?

24

FAE-19 FH0 58NS (BN 1000 008
B &) ([POS DB SeF0TIDESI0A.
S 00 ST) e S8 1D A,
D0 DA 1D B, $cnHd 3 5006
G S, $o00 4 06D D DS
BASD  HENIB 5 HNOAY (IR ES
GOV, D0 E A308Y 5 0205
ST°LH, QAT NTRBN)B0D,
DFO ASD 1 02HD Do
RNSOYS0A.  Szen  FohadS DS
OB & 7D 80 TOASC
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49.

50.

51.

Ramesh said to his daughter, “I am four times
as old as you now. Five years from now, I will
be thrice as old as you.” His daughter asked
him, “Ten years from now, how many times

my age would you be ?”
What would Ramesh’s answer be ?

25 times

In a badminton tournament between schools A
and B, school A won 50% of the matches
played in the first three weeks. At the end of
the tournament, its success rate was 75%. If 6
matches were played in the first three weeks
and school A won all its matches played after
that, how many matches did the tournament

have ?

12

The ratio of jobs done by 30 girls to the job
done by 25 boys, in the same time period is
5:6. If 9 girls and 10 boys can finish a job in
40/13 days, then how many girls are required
to complete the job in 6 days ?

12

(17)

49.

50.

51.

SN BS ErOS, “@r SANMY B
QEOTY e BEY DB, DTY ST 5eh
SO DEOTY ¢y BEY SOEN0A.” 9
5055578 @A RA0H, “BD)E3 Hod DTS
S0T°5eh, ° ONN) D) BEY & 0eNOL ?”

330F D0 DAFPETE0 Tenedd ?
2:5 D

A HBA B, JETOO  NQS 23808
2@sB0OS  SB)DOES” Jwcded  Sorchd
TS 8BS IrsSOS A 50% ROV,
SBIDOE  SwA0HES, T DBAHO Béw
75%. IS ek oS 6 SrsSen ed,
8 $orsed SRS ©Q) APFROND QO A
RO, €578 0ES’ D) A5 236mPoN?
12

28 H0AH0ST 30 HOE XT0NEN TR
&SSO QYD 25 O 20NN TR
&SSO AAYD 5:6. 9 N0 X300
QBA 10 N0 ©923°)0NEN 2,8 DA 40/13
oS 18 ToiONS. 6 S &Ssiio
P8 TOHETAE DOd N0 €9500eN
3080 ?
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52.

53.

54.

In a community of 175 persons, 40 read The
Hindu, 50 read The Indian Express. What is
the range of people reading both the papers ?

Question Deleted

There are two different ways of going from
city A to city B. There are 3 different ways of
going from city B to city C. There are two
different ways of going from city C that are
not passing through city B.

How many different ways of going from city A

to city C are there ?

6

Meher purchases 3 apples, 7 bananas and
1 lemon for < 285. Rohan buys 4 apples,
5 bananas and 1 lemon for <245. How much
if he buys 1 apple,

does Harish pay

11 bananas and 1 lemon ?

<365

(18)

52.

53.

54.

175 08 SO SoosS, 40 SHo0d &
POA®, 50 N0 RWOAADS  FJ R0
DT, BO DI HIAS 8 DO
D0 ?

108, SOA0DB0L

S0 A o0& B o8 IT8 Bock
BB SFTEN Em) 0w, SHB0 B oG ¢3
C8 IFER8 3 DI SrTen  csrr) ow.
B0 C NOB IFITA8 Bocd VB
QPPN Gr) 0N, ® o B Ko
SEMNY
263 A oG D C I3 A) DI
QPN E5°) O ?

6

6 3 DS, T 3350 SHOKM
1 QX05oH < 285 & Foerd. Ford
4 OSrDO), 5 @SR OO
1 Qa035P00 <245 S0 SFoerd. 1 ASrad,
11 @8e350C, 1 Dd050H FOT T8 O
TOT R ?

<365
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55.

56.

57.

The Compound interest on a certain sum for
2 years 1s < 1,512 and Simple interest is
< 1,440. If the sum is invested such that the
Simple interest is < 2,592 and the number of
years is equal to the rate of interest per

annum, then find the rate ?

6%

You are an officer-in-charge for providing food
facilities to the survivors of a cyclone affected
area. Despite your best possible efforts, people
level allegations against you that you are
making money out of the funds sanctioned for

relief. You would ...

Let an enquiry be set up to look into the

matter

As a citizen, you have some work in Grama

Sachivalayam and have submitted an
application for the same. The official there
calls you repeatedly and without directly
asking you, sends out feelers for a bribe. You

want to get your work done. You would ...

Verbally complain to the higher officials
about the feelers and ask for help

(19)

55.

56.

57.

2 D033 T"0Z AN INB0D Dad$d0
(B 3G <1,512 HOGN Fde SG
<1,440. S SHB <2592 SHBOW
HOSSIT°D HODVS HDOSSIT°AG $SG Bendo
5730, €53 BN ERFS0E ?

6%

DB BT (DrVh ([0S0 DO
AIOWMS IR INFVON 35°% *ET 5O
©0QONETAE 28 A 0 @OTB. WS
GBS (AT TRSHYESE,
&IFDI0 FHo  Hoz™H TIS e
Q0B Ben) SOTANTYIED (D3N DY
S5B3DEOMT STHEICN TFED. XD ...

& DAY JBFOO0NETE
DTG DTN DO
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DOB) HB0D &) OO
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58.

59.

60.

You have been made responsible to procure
medical items at a short notice to be used for
an area affected by a pandemic. On finding the
price mentioned by the suppliers, you found
that the lowest price quoted is approximately
five times more than the approved rate of the

Government. You would ...

Accept the lowest price

You are handling a time-bound project.
Suddenly, you meet with an accident. Your
immediate superior insists that you complete
the task. You would ...

Suggest an alternate person to your

superior who can handle the project.

You have differences of opinion regarding the
project report prepared by your subordinate.
The report has to be submitted immediately.
The subordinate is justifying the information
given in the report. You would ...

Update and correct the report on your
own

(20)

58.

59.

60.

DTIE TP (DB (o8
GOBTFAOTTOIS DS SIS 580y
DONO S DEBOBETIE By erseh
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LTI, ES BIS B S80S S8
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Part B ()
Science and Technology
61. Consider the following statements regarding

62.

India’s Anti-Satellite Missile test :

I. The test successfully destroyed a live
satellite in Low Earth Orbit.

II. The test was
atmosphere to ensure that there is no

done in the upper

space debris.

III. India is the fourth country in the world
to have this kind of missile system.

Which of the statements given above is/are
correct ?

I and III only

Recently, NITI Aayog approved a proposal to
conduct a study on the use of facial recognition
technology in India. In the context of facial
recognition technology, consider the following
statements *

L. A National Automated Facial
Recognition System (NAFRS) is being
developed by the National Informatics

the

Electronics and Information Technology.

Centre, under Ministry  of

II.  The biggest demerit of facial recognition
technology is its limitation in identifying
people in real-time and not in photos
and videos.

Which of the statements given above is/are
correct ?

Neither I nor I1

(21)

61.

62.

OB ®)

R 0805 Bys) @28
rEST50 TB0E) ASroed FTEBE  §HeS
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63.
63. Consider the following statements regarding
ExoMars :
L. Its rover will be the first mission to

64.

combine the capability to move across

the surface and to study Mars at depth.

II. ExoMars is a joint programme of the
European Space Agency (ESA) and the

Russian Space Agency — Roscosmos.

Which of the statements given above is/are

correct ?

Neither I nor IT

Consider the following statements regarding

Fast Breeder Reactors :

I. Fast Breeder Reactors are designed to

breed more fuel than they consume.

II. In this reactor, Plutonium-239 undergoes
fission to produce energy, while the
Uranium-238 the fuel

transmutes to additional Plutonium-239.

present in

III. It is a part of stage 1 of India’s Nuclear

power programme.

Which of the statements given above is/are

correct ?

I and II only

64.
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65.
65. Consider the following statements about
International Nitrogen Initiative (INI) :
I. It is set up under sponsorship of the

66.

Scientific Committee on Problems of the
(SCOPE) and United

Environment Programme

Environment
Nations
(UNEP).

II.  Its key objective is to optimize nitrogen’s

beneficial role in sustainable food

production.

Which of the statements given above is/are

correct ?

IT only
Consider the following statements
regarding the Nationally  Determined

Contributions Transport Initiative for Asia

(NDCTIA) :

L. It is an ASEAN initiative that aims to
facilitate a paradigm shift to zero
emission transport across Asia.

II.  The Indian component of the initiative is

implemented by the Ministry of
Environment, Forest and Climate
Change in partnership with the
Ministry of Road Transport and
Highways.
Which of the statements given above is/are
correct ?
Neither I nor II
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67.

68.

Consider the following statements regarding
the Indian Renewable Energy Development

Agency Limited IREDA) :

L. It is a Navratna Enterprise of

Government of India.

II. It aims to give financial support to

schemes for generating electricity

through new and renewable sources and

conserving energy through energy
efficiency.
L. It works directly under the

administrative control of the Ministry of
New and Renewable Energy (MNRE).

Which of the statements given above is/are

correct ?

IT and IIT only

The Renewables Integration in India 2021
report was launched by which of the following

institutions ?

NITI Aayog and International Energy
Agency

(24)
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69.

70.

the

reference to the enrichment of Uranium :

Consider following statements with

I. Uranium enrichment refers to
increasing the percentage of U-238 (the
fissile isotope) through the process of

isotope separation.

II.  Weapons-grade Uranium has to be
enriched to a maximum of 20 percent of

the fissile isotope.

Which of the statements given above is/are

correct ?

Neither I nor II
With reference to Digital Embossing
Technology, consider the following
statements -

I. It is a printing technology that does not
use chemicals, solvents and also emits
no pollutants.

II. Tt can be used to produce braille maps
for the visually challenged.

III. It was introduced in India recently by
the National Atlas & Thematic Mapping
Organisation (NATMO) functioning as
the Attached Office of the Department of
Science & Technology.

Which of the statements given above is/are

correct ?

I, IT and III

(25)
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71.
71. With reference to ISRO’s upcoming mission
“Shukrayaan-1”, consider the following
statements :
L. Shukrayaan is India’s first mission to

72.

Saturn to study the planet’s surface and
atmosphere.

II. The satellite is planned to be launched
onboard the GSLV Mk III rocket.

Which of the statements given above is/are

correct ?

None of the above

With reference to RFID Technology, consider
the following statements :

I. Passive RFID tags are powered by an
internal circuit and utilize it to send

response to the reader.

II. Semi-passive RFID tags comprise an
internal circuit with power source but
rely on radio waves received from the

reader to transmit the response.

III. Active RFID tags acquire their power

from the readers’ incoming radio waves.

IV. RFID Technology can scan a tag as long
as i1t 1s within frequency range and it
not have line-of-sight

does any

limitations.
Which of the statements given above are

correct ?

IT and IV only
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. . 73.
73. Consider the following statements :
I. Dark Reserve is a public or private land
with a distinguished nocturnal

74.

environment and starry nights that has
been developed responsibly to prevent
light pollution.

II. World’s 15t
Reserve is Mont-Megantic, located in

International Dark Sky

Russia.
III. The International Dark-Sky Association
(IDSA) is a EU-based non-profit

organisation that designates sites as
international dark sky places.

IV. The Department of Science &
Technology (DST) has announced the
setting up of India’s 1% Dark-Sky
Reserve in Himachal Pradesh.

Which of the statements given above are

correct ?
None of the above
Consider the following statements with

reference to Sampurnanand Telescope :

I. It is located at Aryabhatta Research
Institute of Observational
(ARIES), Ladakh.

II. It has completed 50 years of operations.

Sciences

III. It has been extensively used for optical
observations of comets, star forming

regions and star clusters.

Which of the statements given above are

correct ?
IT and IIT only
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. . .. |75,
75. Consider the following statements with
reference to Dirty Bomb :
L. It is a bomb that contains radioactive

76.

material, such as uranium, which 1is
scattered through the air when its
conventional explosive detonates.

II. It

explosion and less toxic waste.

creates  city-flattening  atomic

III. Manufacturing dirty bombs is costlier
than nuclear weapons.

Which of the statements given above are

incorrect ?

IT and III only

Consider the following statements with
reference to “Gaganyaan” :
I. Gaganyaan is an Indian crewed orbital

spacecraft intended to be the formative
the
Spaceflight Programme.

spacecraft of Indian Human

II. ISRO announced Vyommitra, a Male
Robot other
astronauts in the mission.

who will accompany

III. The crewed vehicle is planned to be
launched on ISRO’s GSLV Mk II.

IV. Defence Research and Development
Organisation (DRDO) will provide
support for critical human-centric

systems and technologies in this

mission.

Which of the statements given above are

correct ?

I and IV only
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7.
77. Consider the following statements with
reference to “Small satellite launch vehicle”
designed by ISRO :

78.

I It can place a 500 kg payload at a height
of 500 km in the Low Earth Orbit (LEO).

II. It has two solid motor stages with a lift
off mass of 100 tonnes.

III. It is shorter in length than the PSLV

and GSLV.

IV. Unlike the PSLV and GSLV, it can be
assembled both vertically and
horizontally.

Which of the statements given above are

correct ?
I, IIT and IV only

the with

reference to “International Space Station” :

L It is
project between five participating space
agencies i.e., NASA (USA), Roscosmos
(Russia), ESA (Europe), JAXA (Japan)
and ISRO (India).

II. It is the only active modular space

Consider following statements

a multinational collaborative

station (habitable artificial satellite) in
the Low Earth Orbit (LEO).

III. It has been functional since 1998.

IV. The ownership and use of the space

station are established by
intergovernmental treaties and
agreements.

Which of the statements given above are
correct ?
Question Deleted
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79.

80.

Which of the following Schemes/Programmes
are launched with the objective of reversing

India’s brain drain to brain gain ?

L VAJRA Scheme

II. Ramanujan Fellowship Programme
III. INSPIRE Scheme

IV. ASEAN — India
Fellowship Scheme

Research  Training

Select the correct answer from below :

I, IT and IIT only

Indian Council for Medical Research (ICMR)
developed the strategic plan and Vision 2030

document based on the following :

I. Strengthen health research capacity in

the country
II. Leverage traditional medicine

III.  Well aligned with the National Health
Policy NHP-2017

Select the correct answer from below :

I, IT and III

(30)
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81.

82.

A joint programme of DRDO and ISRO,
highly Anti-Satellite
Weapons (ASAT) under Mission Shakti.

developed potent

I ASAT

attack moving satellites.

is a missile-based system to

II.  India, using ASAT Missile, destroyed a
live satellite in Low Earth Orbit.

ITII. ASAT missile is capable of shooting
down targets moving at a speed of 50 km

per second at an altitude as high as
2000 km.

Which of the statements regarding ASAT are

true ?

I and IT only

Which of the following events has delayed the
commissioning of the Kudankulam Nuclear

Power Plant ?
L Disintegration of the USSR
II. India’s economic crisis of 1991

ITII. Protests by Civil Society

Select the correct answer from below :

I and III only

(31)
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83.

84.

With reference to a mega project pertaining to
Nuclear Fusion research that is being built in
Southern France, International
Thermonuclear Experimental Reactor (ITER),
consider the following statements :

I. It was designed to demonstrate the
scientific and technological feasibility of
fusion power for peaceful use.

II. Institute of Plasma Research (IPR),
Gandhinagar is the Nodal agency for the
project ITER.

III. ADITYA is a medium size Tokamak
fusion reactor installed at IPR,
Gandhinagar as part of ITER.

IV. EU, India, China, Japan, South Korea,
Russia and US are the members of
ITER.

Which of the statements given above are
correct ?

I IL, IIT and IV

With reference to “Blockchain Technology”,

consider the following statements :

I. It is a public ledger that everyone can
inspect, but no single user controls.

II.  The structure and design of blockchain
is such that all the data in it are about

cryptocurrency only.

that depend on basic

features of blockchain can be developed

III. Applications

without anybody’s permission.

Which of the statements given above is/are

correct ?
I and III only

(32)

83.

84.

R0ETLAIS G580 I8 )OS
80588 (ITER), &rs8onb JrsasS 836)
o0 28 D @RS S8 1SS

Q8052S 0. 806 BTARNSINY

D830 ¢

I FoBAWS  &GIJrBo  FIo  JrsEsS
DSB TEy F(RAD O
OBBE OB 1DB8 0N
eV vilolnteInTATR IOl

II. )88 e ey 65 (IPR),
ToHSKE 1B, ITER 3TjwE, SBS
AE).

111 &S @& ITERS' gytomr moddStd
S IPRS Qo) TOHDES DEOHO
2 °5°3r8 I3 805rED.

IV. EU, 2r3&3%0, Bo°, 290, O8
FOAST, Bars H80» US ITERS Hass
3F°EN.

203 BRIS VE OGSO D HBID ?

I, 11, TIT 0805w IV

“WBToNR B8 8§ Jo20H0D 18od

RANISINPS TolafzsleInlola B

L 2 108 .88 $dD Tohre HE
B0, 5 D 28y AN B
QAHO(EOHR.

II. 2’500 ABNEY QT°2E20 DB
ErJEONS ISR Jwdo  Ber
BYPEB)E H0220H0DIE S3{ehad.

II1. 2XSTONR ABEY (PPAWE OE TR
SEEDRS VTAID eI e300

[BEMI N ESTANNARER o\ N IRV
DS ECARDN VEDoS S AE
BBSOIOBED ?

IINVSIOW I ING ST



GS/1G/101

85.

86.

87.

In India 3D-Printed Cornea and 3D-Printed

Liver Tissue were developed respectively by

L.V.

Pandorum Technologies

Prasad Eye Institute and

In the reduced or microgravity of Space, the
astronauts’ faces become red and bloated due
to the blood and cerebrospinal fluid shifting
towards the head causing them to have round,
puffy faces and thinner legs. This phenomenon

1s known as

Charlie Brown Effect

Identify the incorrect statement about the

e-Governance programmes in India.

KHAJANE is an e-Governance project
for the computerized delivery of land

records to farmers of Karnataka.

(33)
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88.

89.

90.

“Cheetahs have been reintroduced in India.”
Which of the following connected to the above
statement are correct ?

I. Cheetahs will help in the restoration of
open forest and grassland system.

II.  Project Cheetah is the world’s first
inter-continental large wild carnivore
translocation project.

III. Out of 8 Namibian wild Cheetahs
reintroduced into Kuno National Park,
5 are male and 3 are female.

IV. The Cheetahs indigenous to India that
went extinct, are African Cheetahs.

V. Author of “The End of a Trail — The
Cheetah in India” is Divyabhanusinh.
ILIIand V

A fermentation process that uses ultrasound
to safely generate Xylitol from Sugarcane
bagasse is created by

Indian Institute of Technology, Guwahati

Identify the incorrect statement about

Hydrogen Fuel Cell Bus developed in India :

I India’s first indigenously developed
Hydrogen Fuel Cell Bus was developed
by Veera Vahana Company.

II. The fuel <cell employed in the
Hydrogen-powered Bus will combine
Hydrogen and Carbon dioxide to create
electricity.

III. The effluent from the hydrogen-powered
Bus is water and heat instead of smoke.

Tand II

(34)
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91.

92.

Part B (ii)

Current Events of Regional, National And
International Importance

Pick out the correct matches from the

following statements regarding

externally-aided projects in Andhra Pradesh :

I. Andhra Pradesh Integrated Irrigation
and Agriculture Transformation Project
is aided by the World Bank.

II.  Andhra Pradesh Community Managed
Natural Farming (APCNF) is aided by

Japan International Co-operation
Agency (JICA).
III. Andhra Pradesh  Irrigation and

Livelihood Improvement Project Phase-3
is aided by KfW — German Bank.

Only I is correct

Which of the following statements are correct

regarding status of Andhra Pradesh
Aquaculture ?
I. YSR Matsyakara Bharosa’ relief is

provided to marine fishermen families
during fishing ban period.

II. Andhra Pradesh Fisheries University is to
be established in East Godavari District.

II1. The Diesel Oil Subsidy for fishermen boats
1s associated with exemption of sales tax
on HSD oil.

IV. The Government has enhanced the
financial benefit to deceased fishermen
(while fishing) family from < 5 lakhs to
<10 lakhs.

Only I, IIT and IV are correct

(35)
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93.

94.

Which of the following statements are correct

about Visakhapatnam-Chennai Industrial

Corridor Development Program (VCICDP) ?

I. It is partly funded by loan from Asian
Development Bank (ADB).

II. It 1is the Golden
Quadrilateral and covers more than
800 km of the State of Andhra Pradesh’s

coastline.

ImI. It is a

platform comprising four nodes.

aligned with

node-centric development

IV. Donakonda is recognized as one of the

nodes.

Only I, IT and IV are correct

Which of the following statements are correct
about the Sea Ports in the State of Andhra
Pradesh ?

L. GoAP has

Krishnapatnam Port as a Major Port.

recently declared

II. Kakinada SEZ Port is being converted
from captive port to commercial port

through Swiss Challenge Approach.

III. GoAP has declared Nakkapalli Port as a
Minor Port.

IV. Vodarevu Port is being developed on
Build, Own,
(BOOT) basis.

Operate and Transfer

Only II, ITT and IV are correct

(36)
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95.

96.

Which of the following minorities have been
allotted special budget cover (2021 —22) by
the Government of Andhra Pradesh ?

Dudekula

Which of the following statements are valid
regarding the initiatives taken by the Andhra
Pradesh Government in Women Development
and Child Welfare Department ?

1. Government in collaboration with
PRATHAM organization is building the
capacitites of sSupervisors and

anganwadi workers.

II. Government in collaboration with UK
CATAPULT organization is extending
support for funding the YSR Thalli Bidda

Express.

III. ‘YSR Sampoorna Poshana Plus + scheme
provides nutritional support to pregnant
women and lactating mothers in all the
mandals except the 77 Scheduled and

Tribals sub-mandals.

IV. Poshan Abhiyaan is implemented in the
State by a 50% external aid from IBRD.

Only I and IV are correct

(37)
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(38)

97. Which of the following statements regarding
the investments in Andhra Pradesh at World

Economic Forum (WEF) 2022 is incorrect ?

Government of Andhra Pradesh signed
an MOU with ACE Urban Developers
for setting up a Pumps and Compressor
manufacturing unit at Mega Industrial
Park at Kopparthy, YSR Kadapa
district.

98. In the recent times which of the following bird

had

mass mortality at Telineelapuram

Important Bird Area (IBA) of Srikakulam

district ?

Pelecanus Philippensis
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SOPITTS  DEVRBOZ  HoD0BOD
808 ¢3¢S° ) DS S ?

F.00.680. 880 3 THHY0 SO e
QOBRANS D) 3D
HBASM  Bo(RID  HASrd A
AoPHEn FO0  eSoBIDBT (D2Heh 50
ACE 8)Q B3N8 MOU HoehEo
TR0,

DOY)EN

28350 00 FFHF0 2, BOJeFHS0
SNPIDS D8, (roo IBAS' 808 ave3eS’
& D& P08 DBETQ), DAWT0E ?

BESD DODIVID



GS/1G/101 (39)
. . 99.
99. Which of the following statements are correct
with regard to Swachh Survekshan Awards

2022 ?

I. Visakhapatnam was awarded ‘Top
Impact Creator’ under Million Plus City
category.

II.  Tirupati Municipal Corporation won the
first rank in ‘Safaimitra Suraksha
Seher’.

III. Salur was awarded for innovation and
best practices under South zone for
towns with 50,000 to one lakh
population.

IV. Pulivendula was awarded for innovation
and best practices under South zone for
towns with 25,000 to 50,000 population.

V. Vijayawada Municipal Corporation was
awarded as cleanest capital.

ILLITand V
100. Consider the following statements :

L Andhra Pradesh Official Language
(Amendment) Act, 2022 Bill was 100.
introduced in the Andhra Pradesh

Legislative Assembly on 23rd March,
2022.

II.  Urdu language, as the second official
language in all the districts of Andhra

Pradesh came into force on 25% April,
2022.

III. Urdu language was already the second
official language in Nellore, Anantapur,
Guntur, Chittoor and Kadapa of United
Andhra Pradesh.

Which of the above statements is/are

incorrect ?

IT only
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(40)

101. Match the following List I with List II with
regard to Arjuna Awards 2022 :

Name of Discipline
Sportsperson

Sushila Devi 1. Shooting
Omprakash ii.  Weightlifting
Mitharwal

Vikas Thakur 1iii. Para Badminton
Tarun Dhillon iv. Deaf Badminton

Jerlin Anika J. wv. Judo

a—v, b—i, c—i1, d—i11, e—iv

102. Identify the correct statements about the
Prime Minister’s Development Initiative for
North East Region (PM-DevINE).

L.

IT.

I11.

IV.

It was announced in the Union Budget
2022 — 23 to address developmental gaps
in the North Eastern Region (NER).

PM-DevINE an addition to the
quantum of resources available for the
North Eastern

Region and will not be a substitute for

1s

development of the

existing Central and State Schemes.

It enables livelihood activities for the
youth and women of North Eastern
Region.

PM-DevINE will fund

convergently, in the spirit of PM Gati
Shakti.

infrastructure

All of the above

101. @S @rden 20228 HSo0HO0D §od

e I D& [1S SO I0G
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103.

104.

Consider the following statements, with

reference to e-RUPI :

I It 1s a seamless one-time payment

mechanism.

NPCI (National

Payments Corporation of India).

II. It is powered by

III. It was developed with the support of
DFS (Department of Financial Services)
and NHA (National Health Authority).

IV. It was launched in the year 2020.

Which of the statements given above are

correct ?

I, II and III only

Consider the following statements with

respect to the “Satkosia Tiger Reserve” :
I. It is a Tiger Reserve located in Odisha.

II. It comprises two adjoining Sanctuaries
of Central Odisha, named the Satkosia
Gorge Sanctuary and the Debrigarh

Sanctuary.

ITII. Tt is located in the Eastern Ghats where
Mahanadi river flows through a deep
gorge.

Which of the statements given above are

correct ?

I and III only

(41)
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105.

106.

the with
reference to the “Crimson Rose Butterfly” :

Consider following statements

I. It is categorised as ‘Endangered’ as per
the IUCN Red List.

II. It is most common in the Himalayan

regions, like Himachal Pradesh and
Uttarakhand.
Which of the statements given above is/are
correct ?
Neither I nor IT
Consider the following statements with
reference to the Prevention of Money

Laundering Act, 2002 :

I. The Act empowers authorities like the
Director to attach property believed to
be “proceeds of crime”.

II.  Offences under Part A of the Schedule
deal

reflect the dedication to tackle money

with trans-border crimes and

laundering across the global boundaries.

III. The Act and the Rules notified
thereunder came into force with effect
from 2005.

IV. The Act has provided for an Appellate

Tribunal and Special Court to conduct
the trial of the offences of money

laundering.

Which of the statements given above are
correct ?

I, IIT and IV only

(42)
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107.

108.

Consider the following statements with

reference to Vande Bharat Express :

L. It is semi-high speed electric multiple

unit train operated by Indian Railways.

II. The first Vande Bharat train was

manufactured by Integral Coach

Factory, Chennai.

III. It can achieve maximum speed of

250 kmph, reducing journey time.
IV. It was previously known as Train 18.

Which of the statements given above are

correct ?

I, IT and IV only

Consider the following statements about
“Vikram-S” :

I. It is India’s first privately built rocket.
II. It is a single stage suborbital space

launch vehicle.

ITII. The mission for the rocket launch has
been named as “Prarambh”, meaning
beginning.

IV. It was developed by space tech startup
Agnikul Cosmos.

Which of the statements given above are

correct ?

I, II and III only

(43)
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109.

110.

Consider the following statements about

“National War Memorial” :
I It was inaugurated in 2021.

II.  The eternal flame of Amar Jawan Jyoti
underneath India Gate was put out and
merged with another eternal flame at
the National War Memorial.

III. It was built to commemorate all the
soldiers who have laid down their lives
in the various battles, wars, operations
and conflicts of Independent India.

IV. The architecture of the memorial is

based on four concentric circles.

Which of the statements given above are

correct ?

I1, IIT and IV only

Recently, the Prime Minister of India led
tributes to freedom fighter Velu Nachiyar on
her 29204 birth anniversary.

With reference to Rani Velu Nachiyar, which
of the following statements is/are correct ?

I She was the first queen to wage a war

against the East India Company.
II.  She formed an alliance with Tipu Sultan
against the British in 1780.

Select the correct answer using the code given

below :

I only

(44)
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111.

112.

113.

I12U2 is a new partnership between

Israel, India, United Arab Emirates and
United States of America.

Identify the names of Ramon Magsaysay 2022
Awardees from the following :

L Sotheara Chhim

II.  Bernadette J. Madrid

III. Tan Soo Heong

IV. Gary Bencheghib

V.  Tadashi Hattori

LIILIVandV

the with

reference to Agriculture Orientation Index

(AOD) :

I. It is published by The International
Food Policy Research Institute.

II. It measures the country’s progress
towards SDG-2 (End hunger, achieve
food security and improved nutrition).

Consider following statements

I1.

It is calculated as the percentage of the
Government’s expenditure on
divided by the share of
agriculture in the GDP.

agriculture,

Which of the statements given above are

correct ?

IT and IIT only

(45)
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114.

115.

Which of the following statements is correct
with reference to the Society for Worldwide
Interbank
(SWIFT) ?

Financial Telecommunication

I SWIFT is

cooperative that is headquartered in

a global member-owned

Switzerland.
II. SWIFT was founded in 1991.

III. SWIFT is a payment network.

IV. SWIFT has the authority to impose

sanctions on the banks.

Which of the statements given above are

correct ?

None of the above

Consider the following statements with

reference to China’s Chang’e 5 lunar probe :

I. It is named after the Chinese Moon
goddess.
II. It is China’s first attempt at a

sample-return mission.

III. It will be the first probe to bring back
material from the Moon, since NASA’s

Luna 24 mission.

Which of the statements given above are

correct ?

I and II only

(46)

114.

115.

T3 H6 8D IE R0LBr08 DIRANS

BIOZABAS (SWIFT)E H02)0H00 80H

VEDOSOS” DE HBSE 2

I  SWIFT ©38 350T0&S (D5
SorSOOE), $O8 &) fad Rowd
052355065 HSTsS HO.

I.  SWIFT 199165 "2050&08.

III. SWIFT @38 3905 I35
IV. 2750300 So5en HOT 9HSB0

SWIFTS &0o&.
203 BRIS VE OGSO D HBID ?

D3 57

Do OBwE) Change 5 orord (D%
N02050D) 180 (D8I HBKe3odod -

L &8 BAD Sroff @R D& 2E.

I FoDS-8L5) MASS T TIS

J0AES (HONBY0 BA.

III. NASA QB0E) Orm® 24 AN ST°Seh,
DO NHOG JTTR)  <38A
SBNZST) DL 1S5 8.

08 AN VEDOEOS’ DD HTID ?
I 08050 IT S5°(¢hadd



GS/1G/101

116.

117.

the with

reference to Conference of Parties (COP27) :

I. COP27 was held in Sharm el-Sheikh,
Egypt.

II.  COP27 reiterated the goal set by the
Paris Agreement at COP21 which was to
keep global warming from rising more
than 1-5 degrees Celsius from the 2000s.

Consider following statements

III. The previous Conference of Parties
(COP26) was held in Glasgow, Scotland.
IV. COP27 reached agreement to provide

“loss and damage” funding for
vulnerable countries hit hard by climate
disasters.

Which of the statements given above are

correct ?

I, IIT and IV only

the with
reference to Mangrove Alliance for Climate
(MAC) :

L The launch of Mangrove Alliance for
(MAC) is
United Arab Emirates in partnership

Consider following statements

Climate spearheaded by

with Indonesia.

II.  Australia, dJapan, United States,
Canada, Sri Lanka and India are
members of MAC.

III. It was launched at the Conference of
Parties (COP27) summit.

IV. It is an intergovernmental alliance with

no binding targets.
Which of the statements given above are

correct ?

I, IIT and IV only

(47)
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118.

119.

120.

the
reference to G20 summit :

I The two-day G20 summit was held in
Bali, Indonesia in 2022.

II.  “Recover Together, Recover Stronger” is

Consider following statements with

the theme for India’s G20 presidency.

III.  “One Earth, One Family, One Future” is
the theme for Indonesia’s G20
presidency.

IV. “Data for Development” will be the

integral part of overall theme of India’s
G20 presidency.

Which of the statements given above are

correct ?

I and IV only

Kiev city is located on which of the following

rivers ?

Dnieper

the with

reference to GloLitter Partnerships Project :

Consider following statements
I. It is an initiative of the United Nations

Environment Programme (UNEP).

II. It litter,
especially plastic litter from all the

ailms to reduce marine

sources.

Which of the statements given above is/are
correct ?

Neither I nor I1

(48)
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